Weatherhead® by Danfoss

ENGINEERING
TOMORROW

Z Series Braided Hose Ends | Quick Reference

A

D A

. B p— ] . - . I ‘ - .
Male Pipe ——. JIC/37° Female — Female FOR-SEAL R Male Straight Split Flange — Tapered Male — ey Female Swivel , -
. . e ol ——— . IRy | M 0 [P = S
Rigid (NPTF) é Swivel, 90° Tube —= s Swivel, 45° Tube Thread O-ring 60° Tube Elbow { o T Wl Rigid (BSPT) L e DIN 24° Seat, - e
. . !; ) DKO Heav
Elbow {'\ . Elbow Swivel 90° Elbow (SAE Code 61) Y ! O Heavy
Part # Thread Hose size . Part # Thread Hose size hread ;
042102 1827 Y Part # Thread Hose size Part # Thread Hose size : Part # Thread Hose size Part # Threa Hose size
04Z-104 1/4-18 04 042-664° 7/16-20 -04 04Z-L64 %/16-18 04 Part # Thread Hose size 16Z-H53 1.75 -16 04z-154 AT o 04Z-58C M16x 1.5 ~04
042106 3518 o 04Z-665° 17-20 o4 04Z-L66 11/16-16 04 04Z-R66 9/16-18 -04 062-156 R3/8-19 06 04Z-60C M18x 1.5 04
042-108 121 “oa 04Z-666 9/16-18 04 06Z-L64 9/16-18 -06 06Z-R66 °/16-18 ~06 082-158 R1/2-14 ~08 04Z-62C M20x 1.5 04
06Z-104 1418 06 06Z-664 7/16-20 _06 06Z-L66 11/16-16 -06 06Z-R68 3/4-16 -06 12Z-162 R3/4-14 -12 06Z-60C M18x 15 6
06Z-106 3/8-18 06 06Z-666 9/16-18 _06 06Z-L68 13/16-16 -06 06Z-R70 7/8-14 -06 ] . ] 16Z-166 R W;W 1 -16 062-62C M20 x 15 6
ppre - - ] 1/16- - : 3/4- _ . o ‘ 20Z-170 R11/4-1 -20
062-108 1/2-14 ~06 06Z-668 2/4 16 06 gzz t:: 13; 1: 12 8: 08Z-R68 7/ 416 08 Split Flange == 062-64C M22x 15 06
08Z-104 1/4-18 08 082'566 3; 16-18 08 07170 o - ‘08 08Z-R70 ? 8-14 —08 67° Tube Elbow | al e 08Z-64C M22x 15 08
i 3/a_ - 08Z-668° 4-16 -08 - - - 08Z-R72 11/16-12 -08 |
08Z-106 /8-18 08 i - 05717 Y o (SAE Code 61) x 08Z-66C M24x15 -08
08Z-108 1/2-14 -08 082-670 /8-14 08 12Z-R72 11/16-12 —12 " 10Z-70C M30 x 2.0 10
102-670° 7/8-14 -10 10Z-L70 1-14 -10 . p '
08z-112 3/4-14 08 102672 VP o 102.L72 Py 0 Part # Thread Hose size 1 122-70C M30x 2.0 12
10Z-106 3/8-18 -10 - - - 20Z-H60 2.00 20 60° Cone Male p— ol 122-75C M36 x 2.0 -12
10Z-108 12-14 210 12Z-670 7/8 14 -12 12Z-L70 1-14 12 Rigid (BSPP) M—-—'\ R |-
02115 Sa1a o 122.672 161 0 127172 13/16-12 P 20Z-H64 237 -24 g , 16Z-80C M42 x 2.0 -16
127-108 1/2_14 12 12Z-676 15/16—12 ~12 12Z-L76 '\7/']6_']2 -12 D A @ 20Z-88C M52 x 2.0 -20
12Z-112 3/4-14 12 162-676 15/16-12 -16 162:L72 13/16-12 -16 Flareless Tube - W Part # Thread Hose size
- - - A -~ iz
127116 1-11172 12 16Z-677 15/8-12 _16 16Z-L76 17/16-12 -16 ngld Ermeto %1&
162112 3414 s 202677 15/8-12 -20 162-L80 111/16-12 -16 7000 Series L) . > 04z:P54 SRAS o
- - - - T B o Split Flange — 06Z-P56 G3/8-19 06
162-116 -11172 16 247-678 17/8-12 -24 20Z-L80 111/16-12 20 . ° Tube Elb ) A 087-P56 G3/8-19 08
16Z-120 11/4-111/2 ~16 2Swivel nuts are universal, both 37° and 45° connections. 20Z-L84 2-12 -20 FELL Uz NEEEETE 20 ube ow 1 A - - - F | Swi | D ’
_ N B 04Z-754 7/16-20 04 (SAE Code 61) B 06Z-P58 G1/2-14 -06 emale Swive ———
. 247-184 2-12 24 ode P o
20Z-116 1-11172 -20 1 y- 08Z-P58 G 1/ 08 DIN 24° Seat i -
. 04Z-755 /2-20 04 —a 4 o T
20ZA-116 1-11172 -20 : . 102.P60 S 0 45° Tube Elbow, &
207-120 141112 20 06Z-754 /16-20 -06 Part # Thread Hose size Heavy o
24Z-124 11/2-11172 -24 JIC/37° Female 062-755 1/2-20 ~06 08Z-G71 119 -08 122:p62 G/ e
: 111 _ . A 06Z-756 9/16-18 -06 08Z-G72 150 08 16Z-P66 G111 16 Part # Thread Hose size
327-132 2-11172 32 Swivel, 90° Long 1
D T’ be Elb Female FOR-SEAL® I P 08Z-758 3/4-16 -08 10Z-G72 150 10 20Z-P67 G11/4-11 -20 047-10E 18 x 15 o
rop lube Elbow . = W 08Z-760 7/8-14 08 -
Short Drop Swivel, r. ? 122-G72 150 12 06Z-12E M20x 15 06
900 Tube EIbOW 3 {1 l ® 12Z-762 11/16-12 -12 12Z-G76 175 12 06Z-14E M22x 15 06
Part # Thread Hose size R 16Z-766 15/16-12 -16 127-G80 200 12 08Z-16E M24x 15 —08
_— 04Z-644° 7/16-20 ~04 20Z-770 15/8-12 -20 : _ A : _
Male Pipe . : 1 P Thread Hose size 16Z-G76 175 16 10Z-20E M30x 2.0 10
. 04Z-645 /2-20 04 04Z-A24 1618 o 162-G84 2,00 -16 Female JIS — 12Z-25E M36 x 2.0 12
f = 7 — — - — _ 5 [ Ii E
swivel %# gzz 2:: 922 ?2 82 04Z-A26 11/16-16 04 162-G80 237 -16 Swivel 30° '-H l 16Z-30E M42x 2.0 -16
® 062-648" 3ae o 062-A24 9/16-18 -06 202-G76 175 20 Flare Straight I
. 20Z-G80 200 20
Part # Thread Hose size 087-648° 3/4-16 —08 06Z-A26 '1/16-16 06 Flareless 45° Tube
04Z-J04 1/4-18 -04 08Z-650° 7/8-14 —08 06Z-A28 13/16-16 —06 202-G84 237 20 Part # Thread Hose size
06Z-104 /418 06 102-650° 7814 o 08Z-A26 1;/16—16 08 Elbow Ermeto 247-G80 237 20 047-00L Cao “os _ .
] 13/16— _ i 247-G84 237 24 . o
06Z-J06 3/8-18 06 122-652 11612 P 082-A28 /16-16 08 7000 Series ’ 06Z-06L G 3/8-19 06 Female Swivel DIN =
- - — - - L
062-J08 1/2-14 06 162-656 15/16-12 16 08Z-A30 1314 08 ' 242-G92 281 24 08Z-08L G1/2-14 08 24° Seat 90° Tube N
08Z-J06 3/318 08 20Z-657 15/8-12 0 08Z-A32 13/16-12 -08 Part # '9I'hread Hose size 32Z-G92 2.81 -32 10Z-12L G3/4-14 10 Elbow, DKO Heavy r 1 ‘I
08Z-J08 1/2-14 -08 aSwivel nuts are universal, both 37° and 45° connections. 10;-230 1 ;1 4 -10 06Z-956 /16-20 —06 327-G93 331 —32 12Z-12L G 3/4-14 -12 -
10Z-A32 13/16-12 -10 .
12Z-)12 3/4-14 12 127.A30 : /14 - 16Z-16L G1-11 ~16 Part # Thread Hose size
16Z-)16 1-11172 -16 R 20Z-20L G11/4-11 -20 04Z-58E M16x 15 04
{ o . 12Z-A32 13/16-12 -12 GO v
04Z-60 18x 1.5 ~04
. ] 7/16- _ .
JIC/37° Male o ] 12Z-A36 1//16-12 12 I A
x Rigid ﬁm 16Z-A36 17/16-12 -16 Flareless 90° Tube L Metric Split 06Z-62E MI8x1.5 06
| a D
] i\ 162-A40 111/16-12 -16 Elbow Ermeto 7000 . £ Flange Straight, . - 06Z-64E M22x15 ~%
Female Pipe % |mﬂ 20Z-A40 111/16-12 -20 Series “‘—C 45° and 90° «| ) = - 08Z-66E M24x 1.5 08
.« . i E . ) 1 .
Rigid (NPTF) ‘ Part # Thread Hose size 20Z-A44 2-12 20 (Komatsu, Linkbelt, etc) Female Swivel ] 10Z-70E M30x 2.0 -10
g 04Z-504 7/16-20 -04 24Z-A40 111/16-12 -24 Part # Thread Hose size Dart # Thread Hose size 30° Flare ﬁ r? R 12Z-75E M36x 2.0 -12
5 . 04Z-505 172-20 -04 24Z-A44 2-12 —24 06Z-976 9/16-18 -06 (Komatsu, Linkbelt) i ﬁ 16Z-80E M36x 2.0 -16
art # Thread Hose size 04Z-506 9/16-18 04 10Z-G09 34,2 -10 1 >
042-202 1/8-27 ~04 062-506 9/16-18 ~06 10Z:Ge9 342 -0 Part # Thread Hose size
042-204 1/4-18 ~04 062-508 3/4-16 ~06 102-G99 34.2 -10 04Z-14K M14x15 -04
06Z-204 1/4-18 —06 06Z-510 7/8-14 -06 5 A 06Z-18K M18 x 1.5 -06
06Z-206 3/8-8 -06 : _ _ o - o : T —
08Z-508 3/4-16 08 Female FOR-SEAL Inverted Male % . w 08Z-22K M22x 1.5 -08 Male DIN —
082:208 e s 082-510 /814 ~08 Medi D Swivel == b 10Z-24K M24 x 1.5 10 ° el i
122212 3/4-14 -12 08Z-512 11/16-12 -08 edium ~rop . ekt 2 : - - 24° Seat, Heavy Wy (o
T07-508 a1 o Swivel, 90° Tube Straight ) READYLOK® 2 122:30K V30515 sk
1) _ _ .
10Z-510 7/8-14 -10 Elbow Part # Thread Hose si Staple Male #*s roz-33K M33x1.2 10 Part # Thread Hose size
ar rea 0s€ size = 20Z-36K M36x1.5 -20 047-06F o 0
A 10Z-512 11/16-12 -10 . 047-B03 38 Connector - 12x1.5 -
b Part # Thread Hose size - -24 -04
] 12Z-510 7/8-14 -12 5 042-B04 7 164 o . 04Z-08F M16x 15 -04
Female Pipe _;%_' jquE 122-512 11/16-12 13 04Z-)34 1116—18 -04 142505 o Part # Thread Hose size 04Z-10F M18x 15 04
Swivel - 122-514 13/16-12 12 042-136 /16-16 o - — o 042-045 /4 04 06Z-10F M18x 15 06
i : 04Z-J38 13/16-16 04 06Z-B04 //16-24 -06 062-065 3/8 -06 .
12Z-516 15/16-12 -12 o 1 A 06Z-12F M20x 1.5 -06
167514 31612 6 06Z-)36 /16-16 06 06Z-B05 /2-20 06 06Z-08S 38 06 E le Swivel 5
Part # Thread Hose size 062-J38 13/16-16 ~06 062-B06 5/8-18 _06 1 eémaie swive . - 06Z-14F M22x15 ~06
162-516 15/16-12 16 082-085 /2 ~08 DIN 24° Seat = 08Z-16F M24 %15 08
04z-254 /a1e o 162-520 15/8-12 16 082-136 H1716-16 08 062-B07 '1/16-18 ~06 122-125 3/4 12 cab, prev—_ - = -
06Z-256 3/8-18 06 08Z-J38 13/16-16 08 087-B08S 3/4_18 _ DKO Light 10Z-20F M30x 2.0 -10
] 20Z-520 15/8-12 -20 : 08 16Z-16S 1 16 o
08Z-258 /2-14 -08 247-524 17/812 4 08Z-J42 13/16-12 -08 08Z-B10 7/8-18 08 20Z-205 4 0 . 12Z-20F M30x 2.0 12
12Z-262 3/4-14 -12 10Z-J40 1-14 ~10 Part # Thread Hose size 12Z-25F M36 x 2.0 12
16Z-266 1-11172 -16 12Z-J40 1-14 12 04Z-06C M12x15 -04 16Z-30F M36 x 2.0 -16
127-J42 13/16-12 12 04Z-08C M14x15 ~04
- 16Z-J46 17/16-12 -16 X » 04Z-10C M16x 1.5 ~04
SAE 45° 162-J50 111/16-12 -16 Inverted Male IR Standpipe e 062-10C M16x 1.5 06
A . el - ] 1116 B . P — . = lgll5"-
Female Straight { - w Female Swivel E%‘ e 20Z-J50 111/16-12 20 Swivel 45° Loz i Straight Tube Ll - 062-12C M18x1.5 -6 %
. H J 082-15C M22x 15 -08 . o
Pipe Swivel % il Tube Elbow g%\@ / T0z-18C 1 " STC Straight e
= . - X 1. - —B,
' i . Part # Thread Hose size Male * | gl e
(NPSM) A % Part # Thread Hose size Part # Thread Hose size 127-22C M30 x 2.0 P ' | .
04Z-404 7/16-20 -04 04Z-B43 3/8-24 04 04Z-T04 /4 —04 16Z-28C M36 x 2.0 16
Part # Thread Hose size 04Z-405 1/2-20 -04 o 06Z-T06 3/8 -06 : - Part # Hose size
Female FOR-SEAL 04Z-B44 Nn6-24 04 20Z-35C M45 x 2.0 -20
04Z-054 1/4-18 -04 06Z-404 //16-20 -06 L D Swivel 04Z-B45 1/2-20 o4 08Z-T08 172 -08 04Z-BC06 -04
062-056 3/8-18 -06 06Z-406 5/8-18 06 ong Lrop SWIvel, 067.544 764 o 102-T10 5/8 -10 06Z-BC06 ~06
082-058 1/2-14 -08 06Z-408 3/4-16 06 90° Tube Elbow 062845 1220 o 12Z-T12 3/4 -12 06Z-BCO8 -06
12Z-062 3/4-14 -12 08Z-408 3/4-16 -08 062-B46 518 o 16Z-T16 1 16 08Z-BCO8 08
] R _ : 7/8- -
;g; 2:2 11;; 1/?1/2 ;2 08; 410 18 14 08 Part # Thread Hose size 06Z-B47 11/16-18 —06 E le Swivel DIN 5 A 10Z-BC10 -10
- - - 12Z-412 11/16-14 -12 YY) 5618 o 087.548 PP s emale Swive —— 12Z-BC12 Y
. o oy |
04Z-A66 11/16-16 04 ) Universal Seat 45 & — 162-BC16 16
04Z-A68 13/16-16 ~04 Metric Standoi - Tube Elbow, Light ) &
. 062-A66 11/16-16 ~06 etric Standpipe i ]
. . i ot esgabet= = Part # Thread Hose size
Male Pipe Swivel SAE 45° Female ° 06Z-Ac8 13/16-16 ~06 o Straight Tube
90° Elbow Swivel 45° Tube 08Z-A68 13/16-16 -08 Inverted Male 04Z-08D M14x 1.5 -04 ) .
o 08Z-A70 1-14 08 Swivel 90° Tube Part # Thread Hose size 04Z-10D M16X 15 -04 STC Mal —DW
ow 10Z-A70 1-14 10 Elbow 04Z-38T 8 ~04 06Z-10D M16x 1.5 -06 45° Tui:Elbow R L LT
; 12Z-A72 13/16-12 -12 04Z-40T 10 ~04 06Z-12D M18x 1.5 -06 H %\
Part # Thread Hose size Part # Thread Hose size IK
04Z-M04 Ta1s o 12Z-A76 17/16-12 -12 bart i Thread Hose s 06Z-40T 10 06 08Z-15D M22x 15 08
- - - . 5/8— — ar rea ose size i
1 06Z-486 /6718 06 16Z-A76 17/16-12 -16 06Z-42T 12 06 10Z-18D M26x 15 -10 FELEE o2 S
06z:-Moa /a1 -0 20Z-A80 111/16-12 -20 04Z-B63 3/8-24 04 04Z-BC46 -04
06Z-M06 3/8-18 06 06Z-44T 14 ~06 12Z-22D M30 x 2.0 12
- - - 20Z-A84 2-12 20 04Z-B64 7N6-24 ~04 06Z-BC46 06
08Z-M08 1/2-14 -08 : 08Z-45T 15 -08 16Z-28D M36 x 2.0 16
. 24Z-A84 2-12 ~24 04Z-B65 /2-20 -04 08Z-BC48 -08
12Z-M12 3/4-14 -12 D | 78 2 08Z-46T 16 -08
SAE 45° Female :n;— e 06Z-B64 /16-24 -06 10Z-48T 8 0 10Z-BC50 10
06Z-B65 1/2-20 -06 12Z-BC52 _12
Swivel Long Drop 10Z-50T 20 10
i 06Z-B66 5/8-18 -06
» 90° Tube Elbow A 12z-521 22 12 oy
. . %797, 1 06Z-B67 11/16-18 -06 122-55T " 5
JIC/37°F | Male FOR-SEAL il ey 08Z-B68 3/4-18 ~08 - - BSPP Flat Face
o/ Temale e Rigid et 162587 28 16 Female Swivel m
Swivel > - Part # Thread Hose size 1 162-60T 20 By é é
D@ 06Z-446 5/8-18 -06
& Part # Thread Hose size . STC Male
Part # Thread Hose size 04Z-E64 9/16-18 —04 Part # Thread Hose size 90° Tube Elbow
_— A
04Z-603 3/8-24 -04 . 06Z-E66 11/16-16 _06 Split Flange . 06Z-06PA G3/8-19 -06
04Z-604 7/16-20 -04 s ] 06Z-E68 13/16-16 _06 Straight i 60° Cone Female : 06Z-08PA G 1/2-14 -06
=" 3
04Z-605 1/2-20 ~04 SAE 45° Flare " fo— 08Z-E68 13/16-16 -08 (SAE Code 61) [7— B swivel Straiaht o — 08Z-08PA G /214 —08 Part # Hose size
042-606 9/16-18 ~04 Male Rigid = | 1w 08Z-E70 1-14 08 WIvel Stralg %1,_4 e 08Z-12PA G3/4-14 -08 062-BC66 06
062-604 7/16-20 06 ' 08Z-E72 13/16-12 08 Part # Thread e S (BSPP) ! 12Z-12PA G¥a-14 -12 06Z-BC68 06
06Z-605 1/2-20 06 ® 10Z-E70 1-14 -10 082-G08 119 —08 08Z-BC68 08
06Z-606 9/16-18 06 Part # Thread Hose size 10Z-E72 13/16-12 210 08Z-G12 150 08 Part # Thread Hose size 1025070 "
06Z-608 3/4-16 -08 06Z-306 5/8-18 -06 12Z-E72 13/16-12 12 10Z-G12 1.50 -10 04Z-354 G 1/4-19 -04 1 ZZ-BC72 _] 7
062-610 7/8-14 -06 12Z-312 11/16-14 12 12Z-E76 17/16-12 -12 12Z-G12 150 -12 04Z-356 G3/8-19 -04 - -
082-606 9/16-18 —08 16Z-E76 17/16-12 -16 12Z-G16 1.75 -12 06Z-356 G3/8-19 -06 ) ) A 162:8C76 -0
08Z-608 3/4-16 06 20Z-E80 111/16-12 20 122-G20 2.00 12 062-358 G1/2-14 06 Female Swivel 1
082-610 7/8-14 —08 » 162-G16 175 -16 08Z-358 G1/2-14 -08 ECI)I:ITUrEveErI?OaI Seat o —
: 16— _ 5 ube Elbow :
082-612 1/16-12 08 Female FOR-SEAL" — 162-G20 2.00 -16 08Z-360 G 5/8-14 -08 . ! i R
08Z-616 15/16-12 08 | S Light , .
swivel =T 20Z-G16 175 -20 10Z-360 G5/8-14 -10 o
10Z-608 3/4-16 -10 wive o . . STC Mal -
102.610 = =N ) é Male Straight . 20Z-G20 2.00 -20 12Z-362 G3/4-14 -12 Part # Thread Hose size ale 7 sl
102.612 51 m Dart # —— Hose si Thread — 202-G24 238 20 16Z-366 G1-11 -16 04Z-58D M14x15 ~04 90° Long Drop
- - - ar rea ose size ol TE H
122610 7/8-14 12 9 read e 20Z:G32 281 20 20Z-370 G11/4-11 -20 04Z-60D M16x 1.5 04 Elbow
- N - 04Z-564 /16-18 04 O-ring Rigid SazCon e By 062-60D iox s o !E
12Z-612 11/16-12 -12 04Z-566 11/16-16 04 : X1 - -
12Z-614 13/16-12 -12 04Z-S68 13/16-16 _04 Part # Thread Hose size 247-G32 281 -24 06Z-62D M18x 1.5 -06 Part # Hose size
12Z-616 15/16-12 -12 06Z-564 9/16-18 ~06 04Z-P04 //16-20 -04 322:-G32 281 -2 08Z-65D M22x1.5 08 06Z-BC86 06
16Z-612 1M/16-12 16 06Z-566 1/16-18 ~06 04Z-P05 1/2-20 -04 327-G33 331 -32 . 10Z-68D M26x 1.5 -10 08Z-BC88 08
16Z-614 13/16-12 -16 06Z-568 13/16-16 _06 04Z-P06 9/16-18 -04 60° Cone Female e 12Z-72D M30x 2.0 -12 12Z-BC92 )
16Z-616 15/16-12 16 08Z-566 1/16-16 -08 06Z-P06 9/16-18 -06 Swivel 45° Tube | < 16Z-78D M36 x 2.0 16
16Z-620 15/8-12 16 08Z-568 13/16-16 -08 06Z-P08 3/4-16 -06 Elbow (BSPP) HWP’\ 20Z-85D M45 x 2.0 -20
20Z-616 15/16-12 -20 08Z-570 1-14 -08 06Z-P10 //8-14 -06 Split Flange 5" 2
202-620 12/8-12 20 082-572 13/16-12 -08 08Z-P08 3/4-16 -08 22.5°Tube Elbow v Part # Thread Hose size
. a— | ol
24Z-624 17/8-12 —24 10Z-568 13/16-16 -10 08Z-P10 7/8-14 -08 (SAE Code 61) ‘\”\I,;b{\— —l _h 04Z-44P G 1/4-19 ~04
: _ _ ode
327-632 21/2-12 32 10Z-S70 1-14 -10 08Z-P12 11/16-12 08 \_- 062-46P G810 o6 A
10Z-572 13/16-12 -10 ) 3 - g R
127570 _— B 10Z-P08 /416 10 Part # Thread Hose size 08Z-48P G1/2-14 —08 Male DIN p=_"0
10Z-P10 7/8-14 -10 10Z-50P G5/8-14 ~10 o iah s I‘ i qlE
127-572 13/16-12 P 16Z-H03 175 -16 24° Seat, Light I‘
. 10Z-P12 11/16-12 -10 ) B 127-52P G3/4-14 12
o . 12Z-576 17/16-12 -12 122-P10 714 R 16Z-Ho4 2.00 16 I
JIC/37° Female 162-572 13/16-12 16 1 20Z-H04 2,00 20 16Z-56P G1-1 -16 Part i E—— Hose size
; 12Z-P12 11/16-12 -12 : Vo -
Swivel, 45° Tube 7 & 162-576 17/16-12 -16 20Z-60P Sl 20
‘ 9 12Z-P1 15/16-12 ~12 04Z-06A M12x 1.5 -04
Elbow 16Z-580 111/16-12 -16 6 /16
N ] 5/16- _ 04Z-08A M14x15 04
0 207.580 1612 B 16Z-P16 15/16-12 16
Part # Thread Hose size 247-584 12 o4 20Z-P20 15/8-12 -20 A 04Z-10A Mi6x1.5 —04
047-684° 7/16-20 ~04 24Z-P24 17/8-12 -24 Split Flange - ] X 06Z-10A M16x 1.5 -06
042-685° 1/2-20 04 45° Tube Elbow | ol A 60° Cone Female " l 062-12A MITE X 1.5 0o
04Z-686 9/16-18 -04 (SAE Code 61) A Swivel 90° Tube =Tl 08Z-15A M22x15 -08
06Z-684 7/16-20 -06 W 10Z-18A M26x 1.5 -10
. Elbow (BSPP f
06Z-686 9/16-18 -06 . — Part # Thread Hose size ( ) -y © 12Z-22A M30x 2.0 -12
062-688° 3/4-16 06 Male Straight 08Z-G41 119 -08 162-28A M36x 2.0 16
08Z-688° 3/4-16 -08 Thread O-ring %ﬁh— 08Z-G42 1.50 -08 Part # Thread Hose size 20Z-35A M45 x 2.0 -20
08Z-690° 7/8-14 -08 Swivel y 10Z-G42 150 -10 04Z-74P G 1/4-19 ~04
10Z-690° 7/8-14 -10 & . 127-G42 150 -12 06Z-76P G3/8-19 -06
10Z-692 11/16-12 -10 EG Lz LRl 127-G46 1.75 12 06Z-78P G1/2-14 -06
127-692 11/16-12 -12 04Z-R04 ;/ 16-20 -04 162-G46 175 16 08Z-78P G1/2-14 08
12Z:696 15/16-12 -12 06Z-R06 3/ 16-18 -6 16Z-G50 200 ~16 08Z-80P G5/3-14 08
16Z-696 15/16-12 -16 06Z-R08 /4-16 06 20Z-G46 175 20 10Z-80P G5/8-14 -10 ENGINEERING
: 5/8- _ ) 3/4- _
20Z-697 15/8-12 20 08Z-R08 /4-16 08 207-G50 500 0 Po—— G3/aa B TOMORROW
ace ) . o . _ 7/a_ _
Swivel nuts are universal, both 37° and 45° connections. 08Z-R10 18 14 08 20ZA-G54 237 20 16Z-86P G1-11 _16
08Z-R12 ; /16-12 08 247-G54 237 20 20Z-90P G11/4-1 -20
10Z-R08 7/4—1 6 10 247-G62 e By
12Z-R10 /8-14 12
32Z-G54 2.37 -32 Danfoss can accept no responsibility for possible errors in catalogs, brochures, and other printed material. Danfoss reserves the right to alter
327-G62 281 -32 its products without notice. This also applies to products already on order provided that such alterations can be made without subsequent

changes being necessary in specifications already agreed. All trademarks in this material are property of the respective companies. Danfoss
and the Danfoss logotype are trademarks of Danfoss A/S. All rights reserved.

AV452872609750en-000102 © Copyright Danfoss Power Solutions | RHHF | JC | 2023.05



